20238 &= =014t

SN S AITHAE D}
I-Iil-l E/\letéF
chol: RrR|HE 4

BB A S AITH A4 2t

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AL TH24 10 39,265,562 33,767,539 5,498,023
= 8,207,000
== 1,302,200
Al 29,796,362
SAIDHE 36,421,804 30,884,231 5,537,573
= 8,207,000
< 1,302,200
Al 26,912,604
el a8 78,640 161,640 A73,000
CAEE 8,640 8,640 0
202 04l 8,640 8,640 0
01 2LHoIH 8,640 8,640 0
OFADZEY g4 8,640
e[ HE A 70,000 143,000 73,000
201 er23| 23,000 76,000 53,000
01 AtR2t2|HI 23,000 76,000 /53,000
Odgt==H| 5,000
—CAA=EMEH] KXI2e 5,000
O=2g=+d 18,000
—ZAAHERES Bl d
100,000& x 152 %122 18,000
203 2=l 2,000 2,000
03 A=A PR FA| 2,000 2,000
OZ Al HE =& 2,000
207 AR 40,000 60,000 /20,000
01 H7ESHI 40,000 60,000 220,000
OZAAZZEHMA(PIS) SN2l B 40,000
401 AlZHIZL SO 5,000 5,000
03 Al 2 CHHI 5,000 5,000
OZADIZHE & ZAIZ|HE =8 5,000
CAITH S 12,518,393 13,392,059 A\BT3,666
[ 4,510,000
= 902,200
Al 7,106,193
CANY gdat 1,481,733 1,428,059 53,674
101 @124H| 218,177 361,400 N\83,223
04 JIZtNZ22 XS24+ 218,177 361,400 N\83,223
OZAITHE R A LB & 55,766
—Jl2=s 3,051,300 128 36,616
—gxt=g 119,437& 128 1,434
—F22PE
14,9302 x150%* 16A1 2H* 12 4,300




2A:

S AIRH A4 D

M SADHY
Chel: SAITHA EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
RS EEre
14,9302 »150%+30A1 2t * 122 8,063
—EX= 3,842,570& 1 3,843
—=3l 56,8003 *12& 682
—2HAlH| 3,000 »23L * 122 828
OZAMNEXNHHE M=, X AME
& 94,422
—JI2= 2,567,400« 12& »2H 61,618
— %X 100,9152 122 x2H 2,422
—FYR2sy
12,6142 *150%* 16A| 2+ * 122 x2H 7,266
—zn224Y
12,6143 *150%+30A| 2+ 128 +2H 13,624
—&E&= 3,235,960 x 1«2 6.472
—E3HI 56,8003 x 122 1,364
— 2| 3,000 232~ 128 +2d 1,656
OFANYHHNHE S 127,989
—JlZ2= 2,310, 1002« 12& 3 83, 164
—gxt=g 91,0663 122 +3H 3,279
—FYR2sy
11,3832 *150%* 16A| 2+ * 122 +«3H 9,835
—zn224Y
11,3833 *150%+30A| 2+ » 122 +3H 18,441
—&E&= 2,913,4103 183 8,741
—E3HI 56,8003 x 12«3 2,045
— 2| 3,000 232 12 x3H 2,484
201 Ler23| 63,556 65,659 22,103
01 AR 22| 47,23 46,780 456
osgsy 4,650
—CAMYERAES 2o =&
130,000& *15& 23] 3,900
—JI2tHl 22X ME 9E ¢
130,000& x3& *22 780
Odgt+=ZH| 42,556
—HEAIRES 200, 0002 «37H* 12& 7,200
—S&= 5,000,000 23] 10,000
—cl2, A4 5,000,000 23] 10,000
—S ORI 50,0002 <24+ 102 1,000
—0t=2 AlE AYorM 2t i
198,000& * 122 2,376
—0tE5= AlE s)|etEael
165,000« 12& 1,980
—ANEE7A2el 10,000,000 * 14| 10,000
2 35234l 16,320 18,879 2,559
Os&82= € MA 16,320




A SAITHAE D

X-I;_(I-I: E/\letéF

=91 =AME (EH9): ®2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—0iEE2 A& @183
1,000,000 122 12,000
—0I=s2 ME= SHRks
260,000 * 128 3,120
—Ots= AME= Yotk ls S
100,000« 12& 1,200
203 HR=H] 1,000 1,000
03 A=A 2= 1,000 1,000
OFANYER =& 1,000
207 ARl 136,000 100,000 36,000
01 A1E9H| 136,000 100,000 36,000
OZAIMHAHE 22 AEHet s EH 18,000
OZAMY AT& (=2 HE, M) S 18,000
OZAITHY =AY HE =8 29 100,000
401 AIZHIZ SO 1,003,000 900,000 103,000
01 Al&H| 1,000,000 900,000 100,000
OJt=8 TAIMY ot=2tH FHl 300,000
OZAHE =AY XS0 HA) 700,000
03 AlE S THYI 3,000 0 3,000
O A S 7L L= 3,000
RS SAMY S ALY 6,985,000 5,210,000 1,775,000
= 2,004,000
=S 419,000
Al 4,472,000
101 ©1AH| 217,863 171,119 46,744
M ORNZZ2NSE S 217,863 171,119 46,744
OEANEHAE XA HAE S 47,211
—Jl=s 2,567,400« 128 *1Y 30,809
— % x==g 100,915% 121 1,211
—gL2F=E
12,6143 % 150% 16A1 2+ 122 x1H 3,633
—=22+E
12,6143 *150%+30A| 2+ 122 x1H 6.812
— 2| 3,000 x232 12«1 828
—EX= 3,235,960 x1E«1H 3,236
—=3| 56,800 1221 682
OEATHMHERIELE & 170,652
—Jl=s 2,310, 1002« 123 4 110,885
— % x==g 91,0662 x12E x4 4,372
—5€27
11,3833 *150%* 16A| 2+ 122 x4H 13,114
—=22+E
11,3833 *150%+30A| 2+ 12 x4H 24,588
—2HAH| 3,000 %232 122 »4H 3,312




2A:

S AIRH A4 D

B CADNY
Chel: SAITHA EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—EX= 2,913,410+ 18 %4 11,654
—E34l 56,8002 x 122 x4 2,727
201 fet=23y| 19,400 19,400
01 AtR2tc|HI 19,400 19,400

OZAHASHEXEHE 29 19,400
—HdE AMNRES 200,000 * 122 2,400
—E8= 5,000,000& «141x23] 10,000
—cIEH, 24X 3,000,000& *14%22] 6,000
—&==9 & 50,0002 +271x 102 1,000

207 ARl 580,000 380,000 200,000
[ 80,000
Al 500,000

01 HESHI 580,000 380,000 200,000
OF AL UF 580,000
s 80,000
Al 500,000

307 elzto| & 220,000 60,000 160,000
= 20,000
Al 200,000

02 QA HAIEE X 220,000 60,000 160,000
OZAIMS F2SZ2 A 220,000
[ 20,000
Al 200,000

401 Al HIZL 201 1,061,737 1,071,081 19,344
s 13,000
Al 1,088,737

01 Al&HI 1,050,737 1,070,081 19,344
OJt=sS TAIMY OlSS At 50,737
= 13,000
Al 37,737
OJ=Es TAINAY OtS2 A (X)) 1,000,000

03 A& S CHYI 1,000 1,000 0
OJt=S TAIMY mEAE =8 1,000

403 AXIEHMSXH=01& 4,8%6,000 3,500,000 1,396,000
= 1,981,000
== 419,000
Al 2,496,000

02 SI12S0ItH et =& 2 €A I 4,8%,000 3,500,000 1,396,000
O 0SEHE ALY /S 2,400,000
= 1,981,000
=S 419,000
OIS HE A 2IEH(XHA) 2,496,000




2A:

S AIRH A4 D

F: TADNY
CHel: ZAITHAY EER=E)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
HES TAMY SE A 4,026,660 3,683,000 343,660
= 2,416,000
S 483,200
Al 1,127,460
101 @124H| 217,863 217,863
04 JIZtN22 X S8+ 217,863 217,863
OEAI MRS R B HE S 47,211
—Jl==s 2,567,400« 1231 30,809
—AXt=sE 100,9153*12&~1H 1,211
—RU2Rsy
12,6142 «150%* 16A1 2t+ 12+ 1L 3,633
—zu224g
12,6142+ 150%+30A| 2t 12+ 1 6,812
—&E&= 3,235,960« 18 x1Y 3,236
— =&l 56,8002 1221 6682
—2tAl| 3,000 «23L*12&+1H 828
OEAHMRHE LY & 170,652
—Jl==s 2,310, 1002« 122 +4Y 110,885
— Xt 91,0662 x 12 x4 4,372
—RU2Rsy
11,3832 «150%* 16A1 2t+ 128 +4H 13,114
—zu224g
11,383 *150%+30A| 2t 12 +4H 24,588
—g=3 2,913,4102* 1A +4% 11,654
— =&l 56,8002 12«4 2,727
—2tAl| 3,000& «23 128 «4H 3,312
201 L2 19,400 19,400
01 AtR2telbl 19,400 19,400
OEAHABHERNELE 2 19,400
—HEMRES 200,000& =128 2,400
—E2= 5,000,000 «141x23] 10,000
—cIEH, AAX 3,000,000 *141%23] 6,000
— Sl HI= 50,000& x2I1*102] 1,000
207 A0 300,000 25,000 275,000
= 60,000
Al 240,000
01 1= 300,000 25,000 275,000
OFoSgdstus 300,000
Fas 60,000
Al 240,000
301 Et2E = 3,000 3,000
11 HAIMHIXI R 3 3,000 3,000
ONES SAIMAU=2 HOHA 3,000




2A:

S AIRH A4 D

M SADHY
Chel: SAITHA EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 40,000 20,000 20,000
= 10,000
Al 30,000
02 2IZHBYAIHE X 40,000 20,000 20,000
OF AN EF2US DA 40,000
= 10,000
Al 30,000
401 AIEHIZ SR OHYI 1,145,397 565,730 579,667
[ 411,000
= 483,200
Al 251,197
01 A28l 1,144,397 564,730 579,667
OU=2s SAIHMOISSAE 1,144,397
[ 411,000
= 483,200
Al 250,197
03 Al S THYI 1,000 1,000 0
Od=2s TAME7EAYE =& 1,000
403 AXIEHHSA=201H 2,300,000 2,500,000 200,000
= 1,935,000
Al 365,000
02 SIS0t =S A A 2,300,000 2,500,000 200,000
OHENZAS A 2,300,000
= 1,935,000
Al 365,000
405 KHoHF S| 1,000 1,000
01 ML ESFSHI 1,000 1,000
O =257 1,000
— &N HEZ Y 1,000
Ofelgt oz |Xlizel 25,000 25,000
201 el 25,000 25,000
2 35244l 25,000 25,000
OAlZ &I Xl 25,000
CAAEER 23,325,000 16,989,000 6,336,000
= 3,697,000
< 400,000
Al 19,228,000
DlEeaZdsc Mua &X 2,405,000 1,706,000 699,000
= 1,109,000
Al 1,296,000
401 AlEHIZ 2 0HbI 2,405,000 1,706,000 699,000
= 1,109,000




2A:

S AIRH A4 D

M SADHY
el SAIHEE=Z (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,296,000
01 AlZ2H| 2,165,000 1,216,000 949,000
O2egdsoEard FLHXTLEZHE (1
& 2 S2I0E 1=224.0m, B=13.0m) 2,165,000
[ 1,007,000
Al 1,158,000
02 Zeltl 240,000 490,000 /250,000
OLedsoEY FLHA JAEZ JHE 240,000
= 102,000
Al 138,000
LI-SE=OtAE AHAE gAY 5,588,000 2,000,000 3,588,000
[ 2,588,000
Al 3,000,000
401 AIEHIZ SR THYI 5,588,000 2,000,000 3,588,000
[ 2,588,000
Al 3,000,000
01 Al&H| 4,588,000 1,800,000 2,783,000
OUt= =0ttt AHAIE A4S A (L=360.0m, B=
15.0m) 4,588,000
= 2,588,000
Al 2,000,000
02 Zaltl 1,000,000 200,000 800,000
OLt==Jtotet AHAIE ZEA 1,000,000
Liel HZ SAIHEEZ JHE 1,000,000 2,000,000 1,000,000
401 AIEHIZ SR OHYI 1,000,000 2,000,000 1,000,000
01 Al&HI 1,000,000 2,000,000 1,000,000
Oltcl H&E TAHECZ BSAE EX
SAk 1,000,000
A2 W~BHIHF OHE 2t SAIHEER 3,000,000 1,000,000 2,000,000
= 200,000
Al 2,800,000
401 A& HIX R0 3,000,000 1,000,000 2,000,000
= 200,000
Al 2,800,000
01 AlZ8| 3,000,000 1,000,000 2,000,000
OaZu~eHEF 2t TAIHZEZ LA
& (L=730m, B=25.0m) 3,000,000
< 200,000
Al 2,800,000
SEED FE ZAHEER 400,000 600,000 A.200,000
= 200,000
Al 200,000
401 AlEHIZ 2 0HbI 400,000 600,000 A.200,000
= 200,000




2A:

S AIRH A4 D

I-I;_(H: EA']HUF
el SAIHEE=Z EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 200,000
01 AlZ2H| 400,000 600,000 A200,000
ONBRED FIB TAHETZ HEAL (=
377m, B=12~20m) 400,000
== 200,000
Al 200,000
AL BEAAET]~3tH 2t AR E2I0E 1,500,000 0 1,500,000
401 Al HIZL 01| 1,500,000 1,500,000
01 Al&H| 1,500,000 1,500,000
OAPELERMA TR~ H2E EAIHEEZ Y
A 1,500,000
wsS2e|~I0lE OHIFEZ ZAIHE =24 500,000 500,000
401 Al HIZ S OHbI 500,000 500,000
01 AlZ2H| 500,000 500,000
Ous2cl~Id|2 OHIIEZ ZAIHEEZ
HEAE 500,000
AN 2 TAIHEEZ2HE 300,000 400,000 100,000
401 Al HIZL 201 300,000 400,000 100,000
01 Al&H| 300,000 400,000 100,000
Odgrdet TAAEEZ JH&(L=272m, B=10.0m
) 300,000
Zele~llclgxuwt TAIHE 2L 400,000 750,000 /350,000
401 AlZHIZ S 0HHI 400,000 750,000 /350,000
01 A28l 400,000 750,000 A350,000
OREX~0lIExW2t TAIHE T2
[=240m, B=8.0m) 400,000
SME TAIHEEZ 4 1,200,000 100,000 1,100,000
401 Al HIZL S 0HYI 1,200,000 100,000 1,100,000
01 Al&H| 1,200,000 100,000 1,100,000
O2ME TAIHEEZZ I (L=3,600m, B=B.0m) 1,200,000
Ligds A&z SAIHEEZ ZY 500,000 1,000,000 A500,000
401 AlEHIZ 2018 500,000 1,000,000 A500,000
01 Al&H| 500,000 1,000,000 500,000
OoUgs 482 TAAEE=2 FHI(L=160.0m, B
=12.0m) 500,000
S8 HE12l ZAIAE 100,000 400,000 300,000
401 AIEHIZ SR THYI 100,000 400,000 300,000
01 Al&HI 100,000 400,000 A.300,000
Osgd Wa12l SAIHE=2(L=30m, B=6.0m) 100,000
NEOILUE MY RIAEZ HEAY 500,000 700,000 A.200,000
401 AlEHIZL S0 500,000 700,000 A.200,000
01 Al&H| 500,000 700,000 200,000
OUSOHUHE A K32 IHE AR (L=230m,
B=8.0m) 500,000




A SAITHAE D
S CADHE

Bel: TAIHEEZ (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ANEZHEE & TAAHEEZ LMY 500,000 0 500,000

401 Al HIZL 201 500,000 0 500,000
01 Al&HI 500,000 0 500,000
O/ZEHEY &€ SAHEEZ LAY 500,000
SO EW~LIE0I0IAR LD 28 TAIHEEE SHEALY 100,000 0 100,000
401 AIEHIX R0 100,000 0 100,000
01 A28l 100,000 0 100,000
OFRet=~LHE0H0IAR D 2 SAIHEEZ
I 100,000
ote XOIHEDIE & SAIHEEZ HEAY 100,000 0 100,000
401 Al HIZL S 0HYI 100,000 0 100,000
01 Al&HI 100,000 0 100,000
Odter AOIHEDE & STAAHEEZ HE
A+ 100,000
SEZ OISHIEEZ XISSHAE 1,400,000 0 1,400,000
403 AXIEHMSA=0ld 1,400,000 0 1,400,000
02 SISOt =2 A P E A I 1,400,000 0 1,400,000
OHE=Z IStz XSt 1,400,000
HEZ JISSEUEHZE NSSAY 700,000 0 700,000
402 2I2FXH=201H 700,000 0 700,000
03 2IZHAAETALHHI 700,000 0 700,000
OAEZ JISSUEZ XS 700,000
YexW~LAAUSZ IISSLEZ XSEALY 1,200,000 0 1,200,000
402 QI2F X201 & 1,200,000 0 1,200,000
03 2IZHRAETAIHHI 1,200,000 0 1,200,000
O2Azu~dANS2 IIEBSAHZ XSt
Are 1,200,000
HESYZ NSSUEZ NSSHAE 600,000 0 600,000
402 2I2FX=01 & 600,000 0 600,000
03 2IZ+LAEAIZYI 600,000 0 600,000
OH2SLZE IESSEEZE NS 600,000
S~ A2 IIESAEZ NI SSA 120,000 0 120,000
402 2I2E X201 & 120,000 0 120,000
03 2IZHAETAIHHI 120,000 0 120,000
OtE~2 292t JIESSAUEZ NSSA 120,000
24 1,212,000 1,112,000 100,000
203 HR=H| 2,000 2,000 0
03 A=A FAIH| 2,000 2,000 0
OZAAHEEZ =4 JRFA 2,000
401 AIEHIX 20HH 1,210,000 1,110,000 100,000
01 AlZ8| 1,200,000 1,100,000 100,000
OE2 4 HEAEE HEH(SAHEER,
ANENHE=Z, i) 300,000




2A:

S AIRH A4 D

B CADNY
el SAIHEE=Z (SH &)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
OZANAHEEZ DI28N24 300,000
OZAHEEZ HAEAHES 100,000
OZAAHEEZ HEAMY 500,000
03 A& S CHYI 10,000 10,000 0
OEZAAHEEZZ ALY =& 10,000
Al 2e] 499,771 351,532 148,239
C2AES 2L 499,771 351,532 148,239
101 e124d| 64,091 61,932 2,159
04 JIZtN2 2S84+ 64,001 61,932 2,159
ONFRXGHRE (L) i+ o HEHE2 2
& 2| 11,384
—Jl=s 76,9602 %1002 1 7,6%
—Fx==g 76,9603 162 *x1H 1,232
—AXt=E 76,9603 *4 L x1H 308
—5e2RE
76,9603 %1.541+ 162+ 1L 1,848
—Z2HAH| 3,0002 %100 +14 300
Odi® MEHSHE 2t 45,946
—Jl2=s 76,9603 x205 2 x2H 31,554
—=xt=g 76,9603 x312+2H 4,772
— Xt 76,9602 x8 2 x2H 1,232
—522fg
76,9603 x1. 5414312 %2 7,158
—2tAlH| 3,000& »205 2 x2H 1,230
oud =132 sz 6,761
—Jl=a 76,9603 602« 1H 4,618
—=x==g 76,9603 x99 x1H 693
— Xt 76,9602 <32+ 1H 231
-5
76,9603 %1. 54102 x1H 1,039
—Z2HAH| 3,000& 60 *1d 180
201 =3 225,680 215,600 10,080
01 AFS2t2ltl 28,480 27,600 880
Ogt==H| 18,480
—OHA MEHOIA 22|, ZAIDHE A &3
2 MNRES 14,700
—SRoFHIAAE S X2t 3,780
Ogxt= 10,000
—NENEZ RS T 10,000
02 3224l 182,200 168,000 14,200
O8&82= € HA 136,000
—HIIL3(HEMENGHR 2l 3IHA) 130,000
—CVSA RS (HEMENTIE 2| 100 ) 6,000




2A:

S AIRH A4 D

M SADHY
el Alg 2 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Od =t 1,200
—XIGHAtE HI&EED| HZH| 1,200
OAIE2ZBI= X 45,000
— o™ MENGIA, KIotRt=, AHEAFRE2
el 38,000
—oHHMENSIE dojerd2e| eieag 7,000
03 A= SHI 15,000 20,000 /5,000
ON2g & =S4 15,000
206 M=l 5,000 4,000 1,000
01 M=8l 5,000 4,000 1,000
Odtid FatesEns) 74 5,000
207 AR 150,000 150,000
01 HESHI 150,000 150,000
OX&EA 018 gdat Jl=HE 84 150,000
307 elzto| & 55,000 70,000 A15,000
06 2= 55,000 70,000 15,000
OAIBITIEAN 28 It 55,000
E2XH 2,682,035 2,722,107 A40,072
C2XFE 2o 2,682,035 2,722,107 A40,072
JI2Eots 72l 2,682,035 2,722,107 A40,072
201 Ler23 | 210,979 202,451 8,528
01 At22t2lt] 36,667 36,667 0
Odgt=3ZH| 34,651
—JIES S+ AHAH &2
9,020&+1,717= 15,488
—JI2 S 24 NI S =T
53,5703 x296 0k 15,857
—2HoS SF AHAH &=
21,800& 1512 3,306
OF=F 1l 2,016
—sdgs 24t
8,000 74! x 128 +3d 2,016
02 S22l 174,312 165,784 8,528
O382= € HA 26,260
—wg JFAXE JIIRS
2,000,000& *12& 24,000
— XS XAl 60,0002 <2CH 120
—SFNERES 120,0002 %12 120
—NsSXHEE= 350,000 <2CH 700
—LUE MOAIAE SUAER
1,1002%100CH* 12 1,320
OXrEH eI 13,260
— ==l 1,700 +50 £ 02| 123 9,180
—&Hld| 2,000,000 2CH 4,000




2A:

S AIRH A4 D

M ET2XY
Belr E2XE 2 EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
— I Al 40,000 *2CH 80
OAEEHIR X 134,792
—Jt2 Bots EJ|EH REEAIE =
200,000 *17, 44891 %2% 69,792
—J2xY ZRE RAE>
60,000,000 * 14! 60,000
=2 . 2otS Z2A2AMAE RR24
5,000,000 14 5,000
202 04d| 2,100 2,100
01 =LHO4 L] 2,100 2,100
OJt2 . 2ots gfFA 2,100
206 =4l 202,956 195,356 7,600
01 =Yl 202,956 195,356 7,600
Otz . 2ots BEAtM 202,956
—LEDS J1=*(50~150M)
450,000 %11, 17691*0. 6% 30,176
—LED21 HH E4 (50~150M)
100,000& %11, 17671+0.6% 6,706
—COMZ4 IZ(70/150W) 35,0003 *6,2729H*14% 30,733
—COMRHA D1 (70/150W)
35,0002 6, 2729 *14% 30,733
—GPS Bots RUIE
70,0002 *11,0887H*8% 62,093
—GPS Eots HED|
100,000& *11,0887H*2% 22,176
—Jti2s SHEBHIOD]
500,000 37424 %1% 1,870
—SEISHI|(22=8/15A/30A)
20,000 *17,448JH *3% 10,469
&AL EHTM(0T)
6,000,000& » 14! 6,000
—HYBD U HEBP
2,000,000 *14] 2,000
401 A& B 20HY| 2,266,000 2,322,200 56,200
01 Al&HI 2,263,000 2,319,200 A56,200
OSHs 208 4x(d SHE) 700,000
—52ots &Xl 1,400,000 *5004 700,000
OL% JIZ2 . Bots TZIiH (X SHS) 525,000
=2 BetsI|7 ZEIHH & F|
700, 0002 *750H 525,000
OJtz2 . Bots 21884 (HItHI<) 88,000
-5 012 2 795 88,000,000 14! 88,000
OJIZS 2ZAIHIOAIAE (2SE) 2=
150,000,000 * 14 150,000
O85Fw 3223 LD 4X
700,000,000 14 700,000




A ZAITH 4
M ET2XY

el E2XY 22 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OF=H s8& £X
100,000,000 *14] 100,000
03 Al =2 0HHI 3,000 3,000 0
OJi2 . 2ots 4X £ il
3,000,000 *14] 3,000
HYE2HAHI(ZAID) 161,723 161,201 522
el 2| 68,717 68,451 266
el 2dd| 68,717 68,451 266
101 @124H| 68,517 68,251 266
03 SRH(RINHA) 222+ 68,517 68,251 266
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